



SOME PROPERTIES OF GENERALIZED HYPERGEOMETRIC FUNCTION WITH LAGUERRE POLYNOMIAL

Mathematics

**Aakansha Vyas** Research scholar, Department of Mathematics, Mewar University, Chittorgarh, Rajasthan.

**Dr. P. K. Mishra\*** Associate Professor, Department of Mathematics, Jodhpur Institute of Engineering & Technology, Jodhpur, Rajasthan. \*Corresponding Author

ABSTRACT

In present paper, we obtain functions  $R_1(1, \lambda + \nu, -n)$  and  $R_1(1, \nu - \lambda, -n)$  by using generalized hypergeometric function. A recurrence relation, integral representation of the Generalized Hypergeometric Function  ${}_2R_1(a, b; c; \tau; z)$  and some special cases have also been discussed. 2010 Mathematics Subject Classifications: Primary 33C20, 33E20, 26A33.

KEYWORDS

Generalized hypergeometric function, Integral representation, fractional integral and differential operators Laguerre Polynomial.

1. INTRODUCTION & PRILIMINARIES:

In many areas of applied mathematics and in particular, in applied analysis and fractional differential equations various types of special functions become essential tools for scientists and engineers. Further studying of the special functions is prospective and very useful for different branches of science. The diversity of the problems generating special functions has led to a quick in-crease in a number of special functions used in applications, The special functions play very important role , particularly the hypergeometric function in solving various numerical problems of mathematical physics, engineering and applied mathematics, is well known[4], [6], [9], [15]. This fact has inspired many mathematicians for investigations of several generalization of hypergeometric function ([5], [11], [16], [17], [18], [19], [20]), S. B. Rao, Amit D. Patel, Jyotindra C. Prajapati and Ajay K. Shukla [22] defines "Some Properties of Generalized Hypergeometric Functions" are carried out the as a special case in this paper as a particular case.

The Gauss Hypergeometric function is defined [12] as,

$${}_2F_1(a, b; c; z) = \sum_{k=0}^{\infty} \frac{(a)_k (b)_k z^k}{(c)_k k!} \tag{1.1}$$

where ( $|z| < 1, c \neq 0, -1, -2, \dots$ )

and the generalized hyper geometric function, in a classical sense, has been defined [3] by

$${}_p\Psi_q(z) = \sum_{n=0}^{\infty} \frac{\Gamma(\alpha_1 + \beta_1 n) \dots \Gamma(\alpha_p + \beta_p n) z^n}{\Gamma(\rho_1 + \mu_1 n) \dots \Gamma(\rho_q + \mu_q n) n!} = \sum_{k=0}^{\infty} \frac{(a_1)_k \dots (a_p)_k z^k}{(b_1)_k \dots (b_q)_k k!} \quad (p = q + 1 \text{ \& } |z| < 1) \tag{1.2}$$

and no denominator parameter equals zero or negative integer.

E. Wright [21] has further extended the generalization of the hypergeometric series in the following form.

$${}_p\Psi_q(z) = \sum_{n=0}^{\infty} \frac{\Gamma(\alpha_1 + \beta_1 n) \dots \Gamma(\alpha_p + \beta_p n) z^n}{\Gamma(\rho_1 + \mu_1 n) \dots \Gamma(\rho_q + \mu_q n) n!} \tag{1.3}$$

Where  $\beta_r$  and  $\mu_r$  are real positive numbers such that

$$1 + \sum_{t=1}^q \mu_t - \sum_{r=1}^p \beta_r > 0.$$

Where  $\beta_r$  and  $\mu_r$  are equal to 1, Equation (1.3) differs from the generalized hyper geometric function  ${}_pF_q$  by a constant multiplier only. This generalized form of the hyper geometric function has been investigated by M. Dotsenko [2], V. Malovichko [8] others. One of the interesting special case considered in [2] has the following form.

$${}_2R_1^\tau(z) = {}_2R_1(a, b; c; \tau; z) = \frac{\Gamma(c)}{\Gamma(a)\Gamma(b)} \sum_{n=0}^{\infty} \frac{\Gamma(a+n)\Gamma(b+\frac{\omega}{\mu}n) z^n}{\Gamma(c+\frac{\omega}{\mu}n) n!} \tag{1.4}$$

Where,  $(R(a) > 0; R(b) > 0; R(c) > 0,$

Here  $\omega, \mu$  both either positive or negative simultaneously,  $|z| < 1$ .

The function  ${}_2R_1^{\omega, \mu}(z)$  is not symmetric with respect to the parameters a and b. By letting  $\frac{\omega}{\mu} = r > 0$

By equation (1.4), Virchenko et al.[18] defined the generalized

hypergeometric function in a different sense as:

$${}_2R_1^\tau(z) = {}_2R_1(a, b; c; \tau; z) = \frac{\Gamma(c)}{\Gamma(b)} \sum_{n=0}^{\infty} \frac{(a)_n \Gamma(b + \tau k) z^k}{\Gamma(c + \tau k) k!} \tag{1.5}$$

where  $\tau > 0$ , &  $|z| < 1$ .

If  $\tau = 0$ , then (1.5) reduces to a Gauss Hypergeometric Function,  $F_1(a, b; c; z)$ , &  $\tau > 0$  on  $|z| < 1$ , the function  ${}_2R_1(a, b; c; \tau; z)$  is defined.

Rao et al. [13], [14] studied various properties of Generalized Hypergeometric Function in the light of fractional calculus.

The Riemann Liouville fractional integral of order  $\nu$  is defined as [10];

$$I^\nu f(t) = \frac{1}{\Gamma(\nu)} \int_0^t (t - \xi)^{\nu-1} f(\xi) d\xi \tag{1.6}$$

And the fractional differential operator of order  $\mu$  defined as [10]

$$D^\mu f(t) = D^n \{ I^{n-\mu} f(t) \}, \tag{1.7}$$

Where  $R(\mu) > 0$ , and  $n$  is the smallest integer with the property that  $n > R\mu$ .

The Laplace transform of the function  $f(z)$  is defined as [1]:

$$L\{f(z)\} = \int_0^\infty e^{-sz} f(z) dz. \tag{1.8}$$

2. Fractional operators and the generalized hypergeometric function  ${}_2R_1(a, b; c; \tau; z)$

Consider the function

$$f(t) = \sum_{k=0}^n \frac{(-1)^k n!}{(n-k)!(k!)^2} (t)^k = {}_1F_1(-n; 1; t) \tag{2.1}$$

Where  $n \in \mathbb{C} (R(n) > 0)$  and  $|t| < 1$ .

On the applying the fractional integral operators (1.6) of order  $\nu$  on  $f(t)$ , which gives

$$\begin{aligned} I^\nu f(t) &= \frac{1}{\Gamma(\nu)} \int_0^t [(t - \xi)^{\nu-1} f(\xi)] d\xi \\ &= \frac{1}{\Gamma(\nu)} \int_0^t (t - \xi)^{\nu-1} \sum_{r=0}^{\infty} \frac{(-1)^r n!}{(n-r)!(r!)^2} (\xi)^r d\xi \\ &= \frac{t^\nu}{\Gamma(\nu+1)} \sum_{r=0}^{\infty} \frac{(-n)_r}{(\nu+1)_r (r!)^2} t^r \end{aligned} \tag{2.2}$$

It can easily write this in form:

$$\frac{t^\nu}{\Gamma(\nu+1)} {}_1R_1(-n; \nu + 1; 1; t) = \frac{t^\nu}{\Gamma(\nu+1)} {}_1F_1(-n; \nu + 1; t) \tag{2.3}$$

We denote (2.3) as  $R_1(1, \nu, -n)$  i.e.,

$$R_1(1, \nu, -n) = \frac{t^\nu}{\Gamma(\nu+1)} {}_1R_1(-n; \nu + 1; 1; t) = \frac{t^\nu}{\Gamma(\nu+1)} {}_1F_1(-n; \nu + 1; t) \tag{2.4}$$

Now applying the differential operator (1.7) of order  $\mu$  on  $f(t)$ , we get

$$D^\mu f(t) = \left(\frac{d}{dt}\right)^n \left[ I^{n-\mu} \sum_{r=0}^{\infty} \frac{(-1)^r n!}{(n-r)! (r!)^2} (t)^r \right] \tag{2.5}$$

Which yields

$$D^\mu f(t) = \frac{t^{-\mu}}{\Gamma(1-\mu)} \square_1 R_1(-n; 1-\mu; 1; t) \\ = \frac{t^{-\mu}}{\Gamma(1-\mu)} \square_1 F_1(-n; 1-\mu; t) \tag{2.6}$$

on denoting (2.6) as

$$R_t(1, -\mu, -n) = \frac{t^{-\mu}}{\Gamma(1-\mu)} \square_1 R_1(-n; 1-\mu; 1; t) \\ = \frac{t^{-\mu}}{\Gamma(1-\mu)} \square_1 F_1(-n; 1-\mu; t) \tag{2.7}$$

**3. Properties of the function  $R_t(1, \nu, -n)$  and  $R_t(1, -\mu, -n)$**

**Theorem 3.1** If  $n \in \mathbb{N}$ , then

$$I^\lambda R_t(1, \nu, -n) = R_t(1, \lambda + \nu, -n) \tag{3.1}$$

$$D^\lambda R_t(1, \nu, -n) = R_t(1, \nu - \lambda, -n) \tag{3.2}$$

The Laplace transform of  $R_t(1, \nu, -n)$  is given as

$$L\{R_t(1, \nu, -n)\} = \frac{1}{s^{\nu+1}} \cdot \mathcal{Y}_n(1; -s) \tag{3.3}$$

Where  $\mathcal{Y}_n(1; -s)$  is Generalized Bessel polynomial [7].

Proof: From equation (1.6) and equation (3.1), we get

$$I^\lambda R_t(1, \nu, -n) = \frac{1}{\Gamma(\lambda)} \int_0^t (t-\xi)^{\lambda-1} R_\xi(1, \nu, -n) d\xi \\ = \frac{1}{\Gamma(\lambda)} \int_0^t (t-\xi)^{\lambda-1} \left( \frac{\xi^\nu}{\Gamma(\nu+1)} \square_1 R_1(-n; \nu+1; 1; t) \right) d\xi \\ = \frac{1}{\Gamma(\lambda)} \int_0^t (t-\xi)^{\lambda-1} \left( \frac{\xi^\nu}{(\nu+1)} \sum_{r=0}^{\infty} \frac{(-n)_r \xi^r}{(\nu+1)_r r!} \right) d\xi \tag{3.4}$$

which gives us

$$I^\lambda R_t(1, \nu, -n) = \frac{1}{\Gamma(\lambda)} \int_0^1 (1-x)^{\lambda-1} t^{\lambda-1} \left( (xt)^\nu \sum_{r=0}^{\infty} \frac{(-n)_r (xt)^r}{(\nu+1)_r r!} \right) t dx \\ = \frac{t^{\lambda+\nu}}{\Gamma(\lambda+\nu+1)} \square_1 R_1(-n; \lambda+\nu+1; 1) = R_t(1, \lambda+\nu, -n) \tag{3.5}$$

This is the proof of equation (3.1).

$$D^\lambda R_t(1, \nu, -n) = D^\lambda [I^{p-\lambda} R_t(1, \nu, -n)] = D^p [R_t(1, p-\lambda+\nu, -n)] \\ = D^p \left[ \frac{t^{p-\lambda+\nu}}{\Gamma(p-\lambda+\nu+1)} \square_1 R_1(-n; p-\lambda+\nu+1; 1; t) \right] \\ = \frac{t^{\nu-\lambda}}{\Gamma(\nu-\lambda+1)} \square_1 R_1(-n; \nu-\lambda+1; 1; t) \\ = R_t(1, \nu-\lambda, -n) \tag{3.6}$$

Which is equation (3.2).

Now by taking Laplace transform of equation (2.4)

$$L\{R_t(1, \nu, -n)\} = L\left\{ \frac{t^\nu}{\Gamma(\nu+1)} \square_1 R_1(-n; \nu+1; 1; t) \right\} \\ = \int_0^\infty e^{-st} \left\{ \frac{t^\nu}{\Gamma(\nu+1)} \square_1 R_1(-n; \nu+1; 1; t) \right\} dt \\ = \frac{1}{s^{\nu+1}} \sum_{r=0}^{\infty} \frac{(-n)_r}{r!} \left( \frac{1}{s} \right)^r \\ = \frac{1}{s^{\nu+1}} \square_1 F_0 \left( -n; -; -\frac{1}{s} \right) \\ = \frac{1}{s^{\nu+1}} \mathcal{Y}_n(1; -s)$$

Where  $\mathcal{Y}_n(1; -s)$  is generalized Bessel Polynomial [7], this proves the equation (3.3)

**Theorem 3.2** let  $n \in \mathbb{N}$ , then

$$I^\lambda R_t(1, -\mu, -n) = R_t(1, \lambda-\mu, -n), \tag{3.7}$$

$$D^\lambda R_t(1, -\mu, -n) = R_t(1, -\lambda-\mu, -n). \tag{3.8}$$

The Laplace transform of  $R_t(1, -\mu, -n)$  is given as

$$L\{R_t(1, -\mu, -n)\} = \frac{1}{s^{1-\mu}} \mathcal{Y}_n(1; -s) \tag{3.9}$$

Where  $\mathcal{Y}_n(1, -s)$  is generalized Bessel polynomial [7].

**Proof:** from equation (1.6) and equation (3.7), we get

$$I^\lambda R_t(1, -\mu, -n) = \frac{1}{\Gamma(\lambda)} \int_0^t (t-\xi)^{\lambda-1} R_\xi(1, -\mu, -n) d\xi \\ = \frac{1}{\Gamma(\lambda)} \int_0^t (t-\xi)^{\lambda-1} \left( \frac{\xi^{-\mu}}{\Gamma(1-\mu)} \sum_{r=0}^{\infty} \frac{(-n)_r \xi^r}{(1-\mu)_r r!} \right) d\xi$$

Putting  $\xi = xt$ , we get

$$I^\lambda R_t(1, -\mu, -n) = \frac{1}{\Gamma(\lambda)} \int_0^1 (1-x)^{\lambda-1} t^{\lambda-1} \left( \frac{(xt)^{-\mu}}{\Gamma(1-\mu)} \sum_{r=0}^{\infty} \frac{(-n)_r (xt)^r}{(1-\mu)_r r!} \right) t dx \\ = \frac{t^{\lambda-\mu}}{\Gamma(\lambda-\mu+1)} \square_1 R_1(-n; \lambda-\mu+1; 1; t) = R_t(1, \lambda-\mu, -n)$$

Which proves the equation (3.7)

Now from equation (1.7) and equation (3.8)

$$D^\lambda (R_t(1, -\mu, -n)) = D^p [I^{p-\lambda} R_t(1, -\mu, -n)] \\ = D^p [R_t(1, p-\lambda-\mu, -n)] \\ = D^p \left[ \frac{t^{p-\lambda-\mu}}{\Gamma(p-\lambda-\mu+1)} \square_1 R_1(-n; p-\lambda-\mu+1; 1; t) \right] \\ = \frac{t^{-\lambda-\mu}}{\Gamma(-\lambda-\mu+1)} \square_1 R_1(-n; -\lambda-\mu+1; 1; t) \\ = R_t(1, -\lambda-\mu, -n)$$

This is proof of equation (3.8).

Now taking Laplace transform of (2.7), it yields

$$L[R_t(1, -\mu, -n)] = L\left\{ \frac{t^{-\mu}}{\Gamma(1-\mu)} \square_1 R_1(-n; 1-\mu; 1; t) \right\} \\ = \int_0^\infty e^{-st} \left\{ \frac{t^{-\mu}}{\Gamma(1-\mu)} \sum_{r=0}^{\infty} \frac{(-n)_r (t)^r}{(1-\mu)_r r!} \right\} dt \\ = \frac{1}{s^{1-\mu}} \sum_{r=0}^{\infty} \frac{(-n)_r}{r! s^r} \\ = \frac{1}{s^{1-\mu}} \square_1 F_0 \left( -n; -; -\frac{1}{s} \right) \\ = \frac{1}{s^{1-\mu}} \mathcal{Y}_n(1; -s)$$

Thus the Laplace Transform of  $R_t(1, -\mu, -n)$  is given as

$$L\{R_t(1, -\mu, -n)\} = \frac{1}{s^{1-\mu}} \mathcal{Y}_n(1; -s)$$

Where  $\mathcal{Y}_n(1; -s)$  is Generalized Bessel polynomial [7]

This is the proof of equation (3.9).

**REFERENCES**

- [1] L. Debnath and D. Bhatia: Integral transforms and their applications, Chapman and Hall/CRC press, Boca Raton, FL, 2007.
- [2] M. Dotsenko: On some applications of Wright's Hypergeometric function, C. R. Acad. Bulgare Sci. 44 (1991), no. 6, 13-16.
- [3] A. Erdelyi, W. Magnus, F. Oberhettinger, and F.G. Tricomi: Higher Transcendental Functions. Vols. I, II, McGraw- Hill Book Company, Inc., New York-Toronto-London, 1953.
- [4] A. A. Kilbas, and M. Saigo: H-Transforms, Chapman and Hall/CRC press, Boca Raton, FL, 2004.
- [5] A. A. Kilbas, M. Saigo and J.J. Trujillo: On the generalized Wright function, Fract. Calc. Appl. Anal. 5(2002), no. 4, 437-460.
- [6] V. Malovichko: A Generalized Fractional Calculus and Applications, Wiley & Sons, Inc., New York, 1994.
- [7] H. L. Krall and O. Frink: A new class of orthogonal polynomials; the Bessel polynomials, Trans. Amer. Math. Soc. 65(1949), 100-115.
- [8] V. Malovichko: A generalized hypergeometric functions, and some integral operators that contain it, Mat. Fiz. Vyp. 19 (1976), 99-103.
- [9] A. M. Mathai and R.K. Saxena: Generalized Hypergeometric Functions with Application in Statistics and Physical Sciences, Springer-Verlag, Berlin, 1973.
- [10] K.S. Miller and B. Ross: An Introduction to the Fractional Calculus and Fractional Differential Equations, John Wiley & Sons, Inc, 1993.
- [11] R. K. Raina: On Generalized Wright's Hypergeometric Functions and Fractional Calculus

- Operators, East. Asian Math, J. 21 (2005), no. 2, 191-203.
- [12] E. D. Rainville, Special Functions: The Macmillan Company, New York, 1960.
- [13] S. B. Rao, J. C. Prajapati, A. D. Patel, and A. K. Shukla: On generalized hypergeometric function and fractional Calculus, Communicated for publication.
- [14] S. B. Rao, J. C. Prajapati, and A. K. Shukla: Generalized hypergeometric function and its properties, communicated for publication.
- [15] S. G. Samko, A. A. Kilbas, and O. I. Marichev: Fractional Integrals and Derivatives. Theory and Applications, Gordon and Breach Science publishers, Yverdon (Switzerland), 1993.
- [16] N. Virchenko: On some generalizations of the functions of the hypergeometric type, Fract. Calc. Appl. Anal. 2 (1999), no. 3, 233-244.
- [17] Nina Virchenko: On the Generalized Confluent Hypergeometric Function and its Applications, Fract. Calc. Appl. Anal. 9 (2006), no. 2, 101-108.
- [18] N. Virchenko, S. L. Kalla, and A. Al-Zamel: Some results on a Generalized Hypergeometric Function, Integral Transform. Special Function, 12 (2001), no. 1, 89-100.
- [19] N. Virchenko, O. Lisetska, and S. L. Kalla: On some fractional integral operators involving generalized Gauss hypergeometric function, Appl. Math. 5 (2010), no. 10, 1418-1427.
- [20] N. Virchenko and Olena V. Rumiantseva: On the Generalized Associated Legendre Functions, Fract. Calc. Appl. Anal. 11 (2008), no. 2, 175-185.
- [21] E. M. Wright: On the coefficient of the power series having exponential singularities, J. London Math. Soc. 8 (1993), 71-79.
- [22] S. B. Rao, Amit D. Patel, Jyotindra C. Prajapati and Ajay K. Shukla: Some Properties of Generalized Hypergeometric Functions, Commun. Korean Math. Soc. 28 (2013), No. 2 p.p. 303-317.